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(Section B)

Q. No. 2

(i)
__Rellockion of Water waves ..
: m*eﬂ!gw O Cn-

—tuherz waker waves tyanvelling wn a mediu
other rnedium %cy {re Yedﬁ ected bacl towarde Hhe
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Q. No. 2 (iii) Data..

vesd fequenu-l F = QO Ho
l«lm,hu,,{ ‘ﬂrecl’uencq -F‘-, 20, OOO Ho.
Sozqcl D.C sound = V 222 mg”
UJa\/elenq{% of £1:0=7  Waveleaghh of Fo - L ?

SOl - \ = -E_FL‘ v “-(‘1
L=V ?L-:y
"Fl = .
h’lf'%%j- ﬂ? = _?nj)l
O D, 000
il o i N
L, =16 bm _/7\ k o)

Hence wavei&ﬂqlﬂ” Of 20 H2 0[ noroauemq will be Y6-bwm
and wave\enq%h (:l)oP ’J.O)ODO Hz of Qveqpf:‘m“\ will be 0-0\b6 .
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Q. No. 2 (iv)
- Short sgb'\‘e::ﬁness .
Tre cLua.lolL“‘-l D.ﬂ ‘”1& u-{e J:a ‘Porm C\C-?C?r LNAQes O d\’
doiecks s called ax chorksignbedness b vesulbs due i
{"ne e,t-i.e'ba-u \f?élne—t {oo lb‘i"lC( and fmaqe & nod F\J-UH
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Q. No. 2 (v)

Dadg:-
polential ot ipoir\" A-V, -looV

:{70}%{1'&1 at E)D'mJC B- Vp -SOV.
Charqe_ = GI) = CQC

_Solutinn.
i A\J:Vq-—‘\/lg

Enm% cuf'pbed \o?} chqme, G4V
E-WAE Vi)
.9 f 100 -50)
= So
=. \ed
Q. No. 2 (vi) £ ' = \d \ea | oStope -
Tt € on indywument wed to debecd C\'\Qrc&eg.
Glokol mff e[ec'{mccooe conkistg oF (3 lovar dick
a “vas dfak ek i conn ected - 4
lo Hhe brax vod which conhaues ",’,;ff isulstor
wilh dtwo thin qeld leaf placed i )
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a ca\ass iav-Tne bvam clisly cn&ﬂ . y/‘\‘ “3:"::;
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DF LCW. jay whvich is eath '=»1 aQ fai
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Q. No. 2 (vii)

> The \ive wive (f a.JC hlaﬂ\ elec'\“vic no*()n‘haj t:ner;\\d ans:a

cuvrent N our homen quu ﬁhquh Yhe lvewsive. Tt
"rq\/@h 'Iﬂrom 'M'\e \auN dlﬁj(ﬂbu«‘hofﬁ bﬂqwrd -lc a:l.l Q?Phance/s

o vy OOMNCe

She cadh wive (B s connected to metal casing of—
a.pphant.’EE far qvmmclmq@ )+ u.buka-U-H Ca-me:)s. 0o
€lec-'r{.a'\b1 anr\c:l S cmnnec’mcl dotne me+a\ slals P'\Qaec\
d{’e.!) n eo.d'"\
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Q. No. 2 (viii)_MUTUAL INDOCTION IN TRANSFORMER
e wc:vkmq rm,nc.,nocx,b af o ’\mﬂtﬂmmey 1S A0 muj'uﬂ-l
Anduchton’ H— u_\orks t:ij1 with P\C voHage,

—?‘Qs: séfu..u-’fc and i;ggéﬁg@gg " ' e

T4 ¢ wuned in A-C civaate pecaune b ois wred Yo 'lwrr\
V"l'\‘aqe/s =¥)) and dOt«J‘ﬁ Umece |N-C éclvcisids c-.UOm the

ey mwven'{‘ ‘1o ‘pass over \OV‘F& distances hence ‘\YQI’B\(\Grm-—
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A idead "tfof\cgcwmer c:hSt:.upoieﬁ ho'\'ef?tqu The powec
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pmma)%{ Hence Po = Pe / qug;gcr primany = \

UEIE = MT. 5 output of tecondawy j
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Q. No. 2 (ix)N2T_OPERATIONI :.

The NOT OPLPfCt-:jf elg Su\mbol el ba1 ovey 1he
]

Lurmbo\ Tt Boolean ewfe&&|0ﬁ (5 P( /yeqcl as
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Ch@ﬂq@k the date OL inou:l Farexqmde (o) {
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Right Hand Grip Rule:-qn

Q. No. 2 (x) T-{: we P\QC-Q OM4+hmnb i» direction D-FCUWEH“:, Wn&l-rmgem
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e e e TS 5
D et
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3 Electomagaetism (Clockwise)
E\ec-}fomqque’nsm ((Anhdodusice by nigwt hood opip ado
E‘b "%h' ‘\Q-\\d w MLG Luhﬁn when 'lhe Luw?r\" (N m clmnchﬁ

cuwent & (N wpward d""’c*' on Nemokbina Maanabie fidldd s in
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Q. No. 2 (xi)

ST

A -Ccu(‘ machine is wed 4o CﬂPU\ dommeﬂ‘lf -rvnm
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Q. No. 2 (xii)

- Nuclear Fusion :-

Nucleay fwyjon i Yo procest when Lg,.o bGIH: nuclie

[
Cun bine lFuﬁ’e. 1o farm Q henv:_,' nUClle bub em,;hlmj

ensrmougds a‘rf\(}.uﬂ-\ D.F enerﬂa.
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3 ™
" 4 enerqy .
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Q. No. 2 (xiii)
Dat
Radiws of curvature -R =28 cm.

Objeck distance - p=S0O em.
¥ {

Solution:-
a) £ocal length= f- R - 38 :’q e -
7 ., S, 3 5
{b) Ulmno. lense -PordeCl A £0-9K
be b 4 Vo (lalso
i i A o= 0-0328
__[.. = | =4 l 1/ = I/D-CJBZé
I B l =30 & cm. J/infont of]
_.L = '__ - | 7‘ (C)Im&gp will D-Dioearmflr:xip *
4 4 So S/ Df— minvor ond. w wnn b lnvgd:gi_
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Q. No. 2 (xiv)
ven = [ = 304068-¢
=3pF =3xl0°F C3
C?, = uf = Yx(0°F Csy- |
Ceq =60 pF = 6o yio - |2l brs Q0UDL S 8
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Q. No. 2 (xv)
Lev
The d&?{fm\ence betue emM o lo

anrd Mng& Q% .:e:( eYence. fh{em'tf:tj ( Lg) S a[g-anc:d CA
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il < 8 b T | aadBk e
L-Lo=K logI /[ T,:l0 Wi 2)

(I.L) y ;9
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\
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(Section C)

Q. No. 3 (Page 1/4)

Reaisiancs :-
The J)votlopr'hj cf a_subctance that DYoV\dQA DDDDU{‘IC}(\
to flouy of c,urve,njc is called g Yeilg"lC]hCE'

S.L wrut'-
ST wnik u{‘ resistance 1< ohm (__D_) ;

It is clp][\fne(i as,

*When _a potential dfference o one vdt is cwnuecﬁ
aeroit Y conduslor oeid o (rlqm-e——o@—-J—M\or

cut cent af 1A pass e thowﬁlq it - “The reAiglance ic
cajcl to be 1 Dhm
Forvmudo ;-

P)L(IJ Dhr‘m LCLDU_J

@)

N

—-— -

L A e AR -a==uni LR — A T

-. octo—— ) l-—IP-!: z et 1 TRE —
Renis{ance (n me.!a_lhc r.n:nduc&or dep endt on the

followrng ch%OrQ
— Natyre Qf Conductov
— Tem_pevaiu‘re o,C Conductor
o A’fQQ o_'[‘ He C,onduc}ov wive
= [ena-\h o{l the conductor (i-e wifq) .

« Noture of Conductor :-
Rexidance rlpne,ndr on  the nature of the condudtor. A
mgp-o.nhc Cﬁnd_u&w H’\o_k has %vea,{ier abamic ruumber
n ny
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Q. No. 3 (Page 2/4)
wlhvouah there metali fhe resvidance Clelts how because GQ

ihe maer/uzm nLLmJoeroP collis ioq¢ 0-(1 elec[vor‘n with Jthp
motals « Thus remedance (¢ much quea.Jrer in_ sore eoﬂdudmaa

rﬂequ\s —H‘\qr} Ojtherg
< ha istaace thanm . )

U\.OIM-&
Smdm—lu The remstance 0 o cenduckos ic olwecjdkg celoded
with %\ne wCee@i \n —\empercdufe The Qrecn)fer Ahe
omperature is the cz\)reaier e Vb gedsile o€ A duo
1o ‘Hne \\uCl(’_ wbro_j(()m malion Clo-.lrLQCk bl electmnd ey
dact ce.\hdus YA m@!sul at e\recﬂr{ mge/l \ienco .
° Resisdance o Tm.pergl:ure
R o T

7 Wera__ture lncrecAed reAu.Sjruhm will alao increane-

; I—? “[GM-PCI'GM&QAQ/]J rui_s-\—q- nee will alae decepane.
o L%{:k 01[’. ':—E wnclug{:orv wice :=
The Rerslance in @ conduackiagl Lo is thcf*cjc\q Dmpgr.l-mmol

‘o the \Pr\Q‘Hn c[‘. '“‘\Q Cun(‘!ma
Rool b wepas B!
As the [eﬂ\%{R of the wire increcges Yho resistana n

l -
o wire will alse (ncease
o \Dﬂq wireAd prowd@_ MOV I"@h&'\'ﬂnm..

- g\r\.br\ft wlreA onvld.l?. leth resitkam W -

Ahe RE)\\SlClm‘.P_ w_Q Cunduc"tar 15 \n»fP_{LeLU\ [)m'pov‘-hm-\as

the areo Of— the canducter honcg

R o l : --.lll)
A \
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Q. No. 3 (Page 3/4)
— Trach wires will aive lem resistanc.

— Tin wiren  wall OMyldjL STAS Asiskanco -
Co,As dhe acea o_f. a_auven conducker (apcreader Yhe
rezg\Sf\r&nca clecma&@s

. gggg'aﬂfs Ee;jﬁgnce -
BH um'% eq, () and (i) .
"R L

A

R-p L
A Kpcci{%c Mi:&]-

e‘{h’ei? [ 2 'Hne. LbM’\Gﬁlr oL flafoDDfJnomcﬁL‘l-« CO-Uec:i ac

W it

f\O\nm me\va\-D_ ctonr
s P

L e iro0s S\\VQrJ{thbraU o

H'”
&>
Data:-
Pouwser =P - SO MW - oo x 10 W
VoHaae;\J: 250 kM = osoxin*V
Cuyvent=T1 = 7
Solution:- )
P_-VT
e
\/
T: S00xI6®W
LSO X|0%Y
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Q. No. 3 (Page 4/4)
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Q. No. 4 (Page 1/4)

NUCLE R D _a.- "Wiflf"l

Tho proamt (n uhich mlrabLa auclei changes +D’l:lecmu {o shablg T
T-\_'ME ofe D i\llgg *Jem{ (o, B and § o\&caq_g)

We wt" reW@d@ﬂ{Hﬁ,decmtg 194 8] DC]-veﬁ'l muc,l\o{ x 4}7&:(
uﬂderqaeﬂ Oll?Cﬂy and Fa.mr oloua(thef aucl, o(e_AY

I- de%
Tn a.)h;ho clecm-\ the yadicactive element undergoes
Chamfl@ (N J.,rf Cpibmac hwmbé‘f O.ﬂdg mafsi ﬂu.mber

The a;l-m'mc. masc fﬂc) decvea.rcd b"'1 4.

The adomic numloev/'z,) decveases l:»a a

The neutvon nwmbev (N) decreases by 2 .

V)

Ax’____% X + :_._He, +Eherq~;1

Eggggl R oolium —226 undé'rqow o( decoy .
¢

= e s m.en +t'He. + Energy
(Rudmum) arc\m‘\ foz pa-'hde) (enerqy )
Tn decaﬂ. o rous ave em;Hfd —
M: :
dE‘cm the fo“otumq Chanﬁgﬁq"(%mcfefwen’f 5~
Hmz D&Weﬂ"r nue.\deggnol Be}amvr aye emitled-
The aiofmf- P (A) remados mahanqed
The alomié number (7) increases bt1 %,
Ww_g nwsifcm numbenrrlxl> olec.recue,b-q i
IEX — "Y 4

rA |

e +e.nerq'~|
(ﬂpﬂdldﬂ)

n o 1 N |

N
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Q. No. 4 (Page 214)

. Cabon- Y ggo-FoPe_ u.no(erqoe( beta c(gcoq

™m
i
"C —> "N + % +eneray ;
6 7 -1 ey
O:%Efo{; (h-‘ffojen) (A -voy)

T, P

In gamma decow

QJI)Y%{& n,u.w\jDer :ﬁﬁl

yYOAR

m_chg;ge.. occuu’St nu;réltlf\,m tho
r\urvxl:)Er-q\O E touaweok b&l

PYNIS SIDn Bf

\LU:.{ ‘ F&MA

omd J-»t IS OLMLQICLM&{O

tho duaC.Qu of an cxrnlerl

huCLiQ- W

hare Ao chm(::j 0.

Egga}m o

A ——=" K 4 Em\s + erergd

z 7

Exna

CPba—u Mde‘@lo& Jam me O'é‘(_“abl

“ca —>‘°co e ® 1-padtidle, + enargy .

I-vaur ore emilled mlot\q with of 6c B P‘Q,r'hdo,,

clon

ol -

'[‘Fw-\hame,a

Thene have

{ - partide,

T‘.«ooe.. have wo

dr\am,e, of. e Thau C:.\'\arqc of-l. Thene

c'horg e. \repe are

ore b%%{é

h

hcwe,
ol Helium which ave electong . Thon ok Mgt Qed -Hm'ds
aloubl% ?or'l'\'iue.la p_\qqf% Jhawve &mﬂ-umgs_; Oyt E|Q:'!H$d n:!ﬂﬂﬂ
Tkm have lage may. ord ore enilded | an atom u.nc_:lerﬂoe;
_ILd_CLe_QQ-U ’r%eaa = in B-decadof | Y-docau .
v I (
” a vutclos -

| emitted
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Q. No. 4 (Page 3/4)

&)
DaJ:a t- To Find ..
™ of I+ Renitoy- R - 2 N Reg = 2
Reaist ance of and Perector= Ra = D L) IP:- &
P@(r&‘}&n& Df de Reaitor= Rz = &1L ‘I[-;r." ,__Tz'-,q }.ng’)
VoHaq e - 6\V.

SOlg‘tlon -

f

(1) Equivalent Rersigtance =Req,
Cince the verictors are connecd ed v POTG\‘e\ the

¢q@vaitﬂ'ls yea\Sdance il be

| PR N S LAl o
Reeg, A 30 60
» of | 3.

..__L, s {8448 \ ' = PR A
R@C\' ( é IoR
—L = __é_x\'
Req & 1
A =]
Re 4%

Req = | (L

L ic lets Hhan the smalleat Vah&ol}cm Min&wi&_ual

resistor.

Q)]

n nara.nej rmﬂbma-}-\an {he cupent 1< dividad (Qm.nne :Hr.lﬂ
- @z:%%r—@ L=T +X +XT.
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Q. No. 4 (Page 4/4)

Bu V=T R. (Ohm's Lm,d) We  dorve the -[:0\ u::ouomggr

I\:V=6V,3A
R

K0
I.-_,__~; V. = é\/ ZZA
R 30N
T, -V =6V -4 A
Ra £ 11
W

The dolal  cuwend in fhe nf_‘m:er\ cambinadon af— ceristet

S *he Sum ()L'l’h@\ﬂdl\nd—uod 2 currents pOSf-ﬂq 'ithchq

i spabobiiom because the wivenk ic dividad Ourﬂmnq

8|
S .

—

I= v = é\f '-‘-éA O~

Ru‘) |-
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Q. No. 5 (Page 1/4 a’
‘mu: is o dovice woed ll:i:_s C,um/g/w-i

e canicod enevgy o electrical ev-eran-

« AC genevalor consists of an armature that ratates
'msicle the ma%ne,“‘(lé. {l:{e.ld oI‘LQ«\"H'}&t a ?cfmaﬂeﬂ-‘
ma%ne‘\ or ba¥y maqanelk-

» GENERATOR -

| A %eﬁﬁ&k@r 1S Pie/ae'ﬁ" D AC %Pﬂi’ﬂl‘l'or-—(hb mﬁlﬂ
Wingkice i anrmatur odu cop
o inducesl® wivvent LI) in_ +he 3eﬂe~'odzw and.
.d_: i« Men uned lo dnive eleednicod energy Lo
domeic omd sndustnial aveos- -

» SLIP RINGS .-
The oumedore (8 cenneckede b-a JL;F ringe. otached

<YFUNCTION OF ARMATORE:-

___The. coil (aamatiwe) cotaken wuido A ¢
;ﬁgld due 1o o otabion 4k Loodn 4o the charge
W the uumben ox, mapaekic Linen of Lorce pWV\fJ«j
y= & = " s N . | I T

[ " 1 |ll o .-,l
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